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Note: lnswer any FIVE full questi*pi;iihoosing QNEfull quesfiopfrom each module.
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-;.r...,,,1 a. Obtain the Fourier serig$q{!(x) = x(2n - x) in 0 < 4ffi48 and hence deduce that :

fi2 1 I L,,,,,,,_o=,'il*u-==;*;;*--;*- - -. (08Marks)
8 l' 3' 5'. "r.*.

b. Express y as,a-Eouiier series upto the second hdrmonics given :

,+:n:::,. i

Third S emester B.E. Degree Exafr*i,ft atio n, Aug./Sep t, 2O2O
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2a.
b.
c.
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a. Find the.Fo.irrier transform of.,,,..fu*"! :

[t-l*l for lxlslI{x)={ w
|. 0 for lx'|,>",ts "*- 

,ot9^ ":r-.1-^i-zt r * -

And hence deduce thafJ +-: dr=,
'-,/ \fu,tru I i ':

b. Find the Fouricr sdglfre transform of,5
iI ..!i _rif ,,

[x 0<x<2f(x)=]" Y -" --
|.0 else where

., "*'L,,c. Find the z - transform of,jj"ffTlcosne iD sinn0.

' , -ti: OR
a. Obtain the Fouridfifihlsform of f(x): *"-lxl.

2z'i!O. ltu(z) =---=-J-. find the inverse z-transform.
(z+2)(z- 4)'

c. Solve ffidifference equatiooln+2* Syrll*9yn:2owithy0:yr = 0 using z-transforms.
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for the data :

Module-3

5 a. Compute the co+fiicient fcorrelation and

b. Fit a best fitting parab olaY = u*z tu lowing i,6111-:,

(06 Marks)

(05 Marks)
:0 correct to

(05 Marks)
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= 1.2 correct to

(05 Marks)

(06 Marks)
y(1) = 3, y(3) = 9,
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Use the Regula - Falsi meth@'b,,find a real

three decimal places. ^ **'
,i*d '
ffu-..,"'4,S

ffiJ; OR
Find the co-efficien-Loffotrelation for the fc

,ir*,4
root of the eqridtibn x3 - 2x - 5

6a.

c.

,Nfarks !, 0,- 40 40-5G 50-60 60-70 70-80
'Number of studens!. 3l 42 51 35 3r
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x 2 J dS,.t;"j 'i' 5 6 7

v 9 8 10 Jzk,j I I t3 t4

= ^tz 
+ hx * e' the followins data : lx

x {'r 2 3 4 5

v ;:::10:1! 12 l3 t6 19.

for the following ddta :

b. nit a teaT&rsrL geometric **. y.=41!**19;aata :

7a.

8a.

b.

., r'''rYc. Evalua@o."-1.:= , 0x Uy Weddle's rule taking seven ordinates.
* oJ l+x'''''fr 
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Give u2s : 24.37 ,uz ='4W ; Ws : 162.86 and u:z : 240.5 find uzs by Newton's divided

difference formula. (06 Marks)

Extrapolate for 25,4 giyen the data using Newton's backward formula :

x 19 20 2l 22 23

v 9l 100.2s 110 120.25 131
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